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i ;! A - Let Ebe the vector space R® and €~(e;j,ez.e5) a basis of E. Let f be the endomorphism of
| B - 15 -2y
| - E whose matrix with respectto € iIsA=| -2 =0 1 3.
t1 ' —6 -19 4/

| o Set B=A-I (I the identity matrix of order 3) Let g be the endomorplusm of E whose - .
: 3 ! i m'uri\ wnh respect to € is B, : -
i

& "
h 1) (” marks) Compute the ~igenvalues of £ Ts f dmvr"wuab‘e ? Trigonalisable ?
}g}; 2) (2 pts) Compute B? and B? furthemore ueaexmme Ker(g) and ¥er (g% and compru‘e
: &‘I ' thme.sus.
i Let a G E, a¢ Ker(g?). Show that the faimily {g2(a), g{+<), a} is a basis of E.Write
! the mauixJof g with réspect to this basis.
;I 3) (2 pts) lu a=e3 and set” ag=es, ap;=g(a3z) and a;=g(az). Write the matri\; of tranfer P
,‘ from the basis € to the basis'(a}, a2, a3) and compute its inverse p! . Give the whtmn
between the three matrices B, Jand P. o aeen 0y

4) (2 pts) Recall that eM =P ﬂ— and that the solutlon to “the' systcm of dltienn;ul

equation X = MY is given by: X (£) =€*™MK where K is a constant vector. Compute
the matrix e*® and solve the differential system X BX '

3
H |

él i B""j'f‘i-"ﬂConSLder the sequene igiven by+the’ re % 7 2Mp=3 U T2 =0,

gi - given. : | /- 2

| | -

;;5 1) (1pt) Ser, for each integer greater than 1, v, = u, — Up-y. Show that v, = d,:n_ul“.

i 2) (1pt) Déducc that (1, ) is convergent and give its limit. '
ol : ) ‘ :

& C - 1) (2pts) For a € R, solve the equation in the complex field C :Zz3-2cos(a)z + 1 = 0.
];H Deduce the trigonometric form of the solutions to the following equation :z2" —
o ' 2 cos(a) ;z“ + 1 = 0, where n is an integer different from 0,

|
2) Let b,(z) = z2™ — 2cos(a) z™ + 1.

N
&

a) (2pts) ?Iustify the following aquality P,: Py(2) = ( -2 cos( )
2ens (55 + ?—"5) z+1 ) ( — 2cos ( + 2(”:)”) z+ 1)

- y - o ey \ 3 i S B T\
by (2pts) Couwuet 2,00, W leduce the following equeay coint —-~}5u (2F+

' ’ , ol
T 2 e o (n=Lmw St’(s )
=Ny SETE Yo = A
Ti yATS n o . 4n—1

3) Forw €]0,7[,and n > 1, set: Hy, (o) = sin Lz —) sm(“- (n—l)")
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inr- ) rd
a) (1pt) Show that Ya non non zero, : 2% M, (a) = ql“?:j) ,

b) (Ipt) Find out the limit of' H, (cx) when a goes to U ?

. ' T I s |
c) (2pts) Deduce the value of , for all integer n>1, . sin (-—) . 8in (—— T ).
f ‘ ) 12/ . noJ

Maths PFTI/GI — Version francaise

A - On note E 1’espace vectoriel R” et €=(ey,e3,€3) une base de . Soit f1’endomoiphisme de

_ 5 T =
L dont la matrice dans € est A =-*-(~—2 =5 4 j
-6 =19 4/ :
On pose B=A-I (I la matrice identité d’ordre 3). O note g I’endomorphisme de E dont la
matrice dans € est B. '
1) (2 pts),Calculer les valeurs propres de f. L’ cnflnmmphmnc f est-il diagenalisable ?
Tngonahsable ? -
2) (2 pts) Calculer B% B? puis déterminer Ker(g) et Ker (g*) et les compfn er,
Soit a€Ej/i ¢ Ker(gz) Montrer que la famille {g2(a), g(a), a} forme une base de
. Ectite la mattice J de g dans cette bas
3) (2 pts) On choisit'a=e; et on pose az=ei, ay=g(as) et a;=g(az). Lerire la matrice de
passage P de la base € la base (ay, az, a3) et déterminer P! Denner 1a ralaiion entre
B, JetP.

n
4) (2 pts) En admettant que e" Z,ti"f’ oy °t que la solution générale du systéme

d’équation” X'= MX est’ dornée par X(t) = ¢™K ol Kest un vecteur constant.
Caleuler la matrice e®® et résoudte le systéme d’équation différenticlle X'= BX.
B - Soit la suite (u,) définie par la relation fécurrente linéaire a trois termes : 2U4-3Up.1+0.9=0
et ug et u; donnés.
D (pt) On pose, pour chaquc n supérietrou égal a 1, vn = Uy — u.A,),l..Démontrcr

P
que v, = S,

2) (1pt) En déduire que la suite (u,, ) est convergente et donner sa limite, g
- 1) (2pts) Pour @ € R, résoudre dans C I’ équqﬁon z’ -2cos(a)z + 1 = 0. En déduire la

io1mc trigonométrique des solutions de I’équation :z2" — 2'cos(a) 2™ + 1 = 0, oti n est un
entier naturel non nul.

2) Soit Py(z) = 2" — 2 cos{a) 2™ + 1.

a) (2pts) Justifier la factorisaticn suivante de : Pilz) = (Zz /2 8qs {-\E)/ + 1)
n
'gc_ 2m B a  2(n-1m
2cos(n+-)z+1)...(z 2(:05(1-{———) +1)

n

b) (2pts) Calculer F,(1). En déduire 1’égalité : sin ( )sm (fg-}%) i BLTI® (;;—I—
(n- 1)7;-) . Si)l’(z) '

n 4n-1"

3) Pour @ €]0, [, et pour lout entiern > 1, on pose H., (o) = sm( = +7—;) . 5in (3- ke
(n—ﬂr’c) ‘ | "

T3
Y 5 r : > 121 ¥ ~ sin (7')
a) (1pt) Montrer auc Va nonnul,ona: 2™ M (v = —-F

b) (1pt) Queile oot ie limile de iiy, (fcr). GUaRD & whd vers § 7

L

2 : ; - * . ; o Y fn—1 N
¢) (Zpts) En déduire la vaicur, pour tout entier naturel -1, det sin Ly s 1)
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